RS (HER L ZEROER)

ROFEE BT,
(1) a(2b+3c) (2) (x—2y)X3x

3) —2z(x—9) (4) (3a+5b)Xx(—4b)

ROFHEE LRI,

(1) 3a(a —2b+5c) (2) (6x—15y) X%x (3) —%a(24a 2_16ab +12b)
ROFFEZE LRI,

1) zy+1) (2) (2a—3b)x(—4c) 3) 3x(2z—y—1)
ROFEZE LRI,

(1) a+2c) (2) (Bx—y)X2x 3) —3x(x—1)

(4) (4a +3b)X(—ba) (5) (6r*—2z)X—=zx 6) ——=a(—6a®+9a)

ROFEE LB,
3

(1) a(3b+4c—2) (2) (x—2y+3)X(—2x) 3) (8a+4b—12)><<—za>



(6] ROFEE LI,
(1) 4a(d—3)

(4) 2a(a+8D)

(7) —(=9m +2n)

ROFEE LB,
1) (5z+6)Xa

4) (dz+3y)Xa

(7) (8a+T7b)X(—=x)

RDEFFEZE LRI,
(1) 9x(4a —5b +3)

(3) bx(—4xr—y+62)

(5) —5c¢(7a —4b —13¢)

(7) (—3a+2b—4c)X3c

—a(3z+7)
Tx(2x — 3y)

12a(2b — 5¢)

—3a(x—4y) p(—Ta +2p)

(3z —4)X Tz (5p —7)X 4a

(—5m +Tn)X5n

(1lx —y) X 2z

(da —9b) X (—T7b) (—8u —5v) X (—6x)

7b(2a +5b — 3c)

—m(3x+Ty —2)

(8p—2¢q—3r)Xx

(6x — %y +11z) X (—2z)

9) (—18a+7b —4c)X(—3b)



(9] ROFEE LEI,
(1) (2a*+3a)+a (2) (3z°—6z)+(—3z)

3) (8a*+12ab)=4da 4) (15x% + 20xy %) = (—bzy)

ROFEE LEI,

(1) (24a% —16ab)~(—8ab) (2) (4x2+2xy)+%x 3) (—3a2b+5ab2)+<—%ab>

RDOEFFEZE LRI,

1) (6a?—16a)=2a 2) (9z% +6zy?) =(—3zy) 3) (3ab — 5b)+%b
ROFEZLRIWV,
1) (122%+8xz)=4x 2) (6ax —15ay)=3a (3) (24a® —16ab)-+~(—8ab)

(4) (6a2+8ab)+%a (5) (—ngy—3xy3)+<—%xy>



ROHAE LT,
(1) (14x —8zy)=+2x

(3) (=12zy’+16yz)=(—4y)

5 (—ay+ty)+ ()

ROFFEE BT,

(1) 2x(x+1)+2x2(2x—3)

3) 3(x?+2x—4)—z(3z—5)

ROFEE LRI,
(1) 2z(3z+1)—z(2x+5)

(2) (15a%49ab)-+3a

(4) (20abc —8bc?) +(—8bc)

6) (12zy*—30azy? _6?/

8) (—3ab*+5a?+0.5a

(2) 3z(z —2y) — 2y(2z —3y)

4) 222 —1)—(622—92% =3z

(2) 3ala—4b)+6a(2b +a)



